

$$\frac{-\tan \alpha + v \tan \alpha}{-\tan \alpha - \tan \alpha} = \frac{v \tan \alpha}{-v \tan \alpha} = -1 \quad \checkmark$$

(r)

6

$$\tan \omega^\circ = a$$

$$A = \frac{v \tan \omega^\circ - \tan \omega^\circ}{-v \tan \omega^\circ - \frac{1}{\tan \omega^\circ}} = \frac{\frac{1}{\tan \omega^\circ}}{-v \tan \omega^\circ - \frac{1}{\tan \omega^\circ}} = \frac{\frac{1}{a}}{-va - \frac{1}{a}} = \frac{\frac{1}{a}}{-\frac{va^2 + 1}{a}} =$$

$$-\frac{1}{va^2 + 1} \quad \checkmark$$

(r)

7

$$\frac{\sin^2 x + \cos^2 x + v \sin x \cos x + \sin^2 x + \cos^2 x - v \sin x \cos x}{\sin^2 x - \cos^2 x} = v \Rightarrow$$

$$v \frac{v}{\sin^2 x - \cos^2 x} = v \Rightarrow \frac{v}{\sin^2 x - 1 + \sin^2 x} = v \Rightarrow v = 4 \sin^2 x - v \Rightarrow \sin^2 x = \frac{v}{4}$$

$$\cos^2 x = 1 - \sin^2 x = 1 - \frac{v}{4} = \frac{4-v}{4} \quad \tan^2 x = \frac{\sin^2 x}{\cos^2 x} = \frac{\frac{v}{4}}{\frac{4-v}{4}} = \frac{v}{4-v} \quad \checkmark$$

(r)

8

$$\frac{1 - \cos^2 x - v \cos^2 x + 1}{1 - \cos^2 x + v \cos^2 x - 1} = F \Rightarrow \frac{v - v \cos^2 x}{\cos^2 x} = F \Rightarrow v \cos^2 x = v - F \cos^2 x \Rightarrow \cos^2 x = \frac{v}{v+F}$$

$$\sin^2 x = 1 - \cos^2 x = 1 - \frac{v}{v+F} = \frac{F}{v+F}$$

$$\tan^2 x = \frac{\sin^2 x}{\cos^2 x} = \frac{\frac{F}{v+F}}{\frac{v}{v+F}} = \frac{F}{v} \quad \checkmark$$

(r)

9

$$\cos \frac{v}{v} \alpha = \frac{1 + \cos \alpha}{v} = \frac{1 + \frac{\sqrt{v}}{v}}{v} = \frac{1}{v} + \frac{\sqrt{v}}{v^2} = \frac{v + \sqrt{v}}{v^2} \Rightarrow \cos \frac{\alpha}{v} = \frac{\sqrt{v + \sqrt{v}}}{v} \quad \checkmark$$

$$\cos(vv/\alpha^\circ) = \sin(vv/\alpha^\circ) = \frac{\sqrt{v + \sqrt{v}}}{v} \quad \checkmark$$

(r)

10